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AR 9% E R 45,473 70 36, 086 4, 838

AR 9 E R 542, 452 244 36, 757 6,419

AR 9T E R 699, 454 90 07,942 7,300

AR 98 E R 560, 223 27 52, 800 9, 784

AR99 E R 139, 050 12 36, 648 9, 296

1% i 60, 747 - 3,058 842

20 > 132, 336 - 2,663 1, 145

3 > 58, 980 | 3, 096 590

47 i» 60, 913 2 3, 061 659

54 > 58, 985 1 3,169 704

67 > 43, 7183 1 3,075 559

T 62, 963 - 3,109 1,162

81 i» 66, 071 2 3,109 655

91 > 30, 255 - 2,938 863

107 i» 46,618 1 3,134 799

117 i» 52,103 2 3,064 499

122 i» 59, 296 2 3,172 819
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